
©2024 Copyright Kappers Fabricating, Inc.   All rights reserved Page 1

Plow Mount  PART #105410
Polaris RZR

1

2

3

4.2

4.6

4.4

4.3

4.14.1

Item # Qty. Description
1 1 Plow Mount (105411)

2 2
Plow Mount Nut Plate (106428)    
(RZR 570 & 800 only)

3 1 12” Soft Strap

4 2 HK-137

4.1 2
3/8”-16 x 1.25 Hex Bolt           
(RZR 570 & 800 only)

Item # Qty. Description
4.2 2 3/8”-16 x 1.00 Hex Flange Bolt

4.3 3 3/8” Flat Washer

4.4 3 3/8” Lock Washer

4.5 2 3/8”-16 Hex Flange Nylock Nut

4.6 3
3/8” x 1.00 Hex Flange Bolt      
Thread Cutting (RZR 900 only)

Note: Requires installation of KFI winch mount. 
See vehicle installation for details. 

• For RZR 570 and 800 installation
See Page 2

• For RZR 900 installation 
See Page 3

4.5



©2024 Copyright Kappers Fabricating, Inc.   All rights reserved Page 2

Note: Make sure all hardware needed to complete this 
mount is in the package. Thoroughly read through and 
understand the instructions before installing.
Note: Plow fairlead pulley is recommended on 
this machine due to the location of the winch. For             
installation instructions, see page 4.
Note: This KFI plow mount Requires the KFI winch 
mount #100660 or Polaris OEM winch mount to be     
installed prior to installing the plow mount.

1. If winch mount is already installed, remove the          
roller fairlead or hawse and set aside as it will be                   
reinstalled in a later step. 
Note: Fairlead bracket bolts may need to be            
loosened for easier install of plow mount.

2. Set plow mount (1) in place and loosely secure 
fairlead and plow mount (1) to fairlead bracket of 
the winch mount using bolts (4.2) and nuts (4.5) as 
shown in Figure 1.

3. Secure bottom of plow mount (1) to the frame of the 
machine using bolts (4.1) and nut plate (2) as shown 
in Figure 2 & 3.
Note: Nut plate (2) will need to be placed on the top 
side of the frame located under the front differential.

4. Tighten all hardware evenly.

Figure 1

RZR 570 & 800 INSTALLATION
Loosen

Fairlead Bracket

1

4.2

4.5

Fairlead

Figure 2

Figure 3

4.3
4.4

4.1

1

2



©2024 Copyright Kappers Fabricating, Inc.   All rights reserved Page 3

Note: Make sure all hardware needed to complete this 
mount is in the package. Thoroughly read through and 
understand the instructions before installing.
Note: Plow fairlead pulley is recommended on 
this machine due to the location of the winch. For             
installation instructions, see page 4.
Note: This KFI plow mount Requires the KFI winch 
mount #100765 to be installed prior to installing the 
plow mount.

1. If winch mount is already installed, remove the          
roller fairlead or hawse and set aside as it will be                   
reinstalled in a later step.

2.  Set plow mount (1) in place and loosely secure 
fairlead and plow mount (1) to fairlead bracket of 
the winch mount using bolts (4.2) and nuts (4.5) as 
shown in Figure 4.

3. Secure bottom of plow mount (1) to the frame of the 
machine using bolts (4.6) as shown in Figure 5.

4. Tighten all hardware evenly.

RZR 900 INSTALLATION

4.5

4.2

Fairlead

Fairlead Bracket

1

Figure 4

Figure 5

4.3
4.4

4.6



©2024 Copyright Kappers Fabricating, Inc.   All rights reserved Page 4

- R
EC

O
M

M
EN

D
 A

 P
U

LL
EY

 A
T 

TH
E 

W
IN

C
H

 A
S 

W
EL

L 
A

S 
PU

SH
 T

U
B

E.
 

V
IE

W
 E

X
A

M
PL

E 
B

EL
O

W
.

- S
TE

EL
 R

O
LL

ER
- S

TA
N

D
A

R
D

 O
R

 W
ID

E

TH
IS

 M
O

U
N

T 
RE

CO
M

M
EN

D
S 

A 
PL

O
W

 P
U

LL
EY

W
H

EN
 T

H
E 

W
IN

C
H

 F
A

IR
LE

A
D

 A
N

D
 P

LO
W

 
PI

N
 P

O
IN

T 
A

R
E 

C
LO

SE
 T

O
 E

A
C

H
 O

TH
ER

, I
T 

C
R

EA
TE

S 
A

 S
H

A
LL

O
W

 L
IF

TI
N

G
 A

N
G

LE
. B

Y
 

A
D

D
IN

G
 A

 P
U

LL
EY

, Y
O

U
 A

R
E 

C
H

A
N

G
IN

G
 

TH
E 

W
IN

C
H

 A
N

G
LE

 T
O

 A
 M

O
R

E 
V

ER
TI

C
A

L 
LI

FT
IN

G
 P

O
SI

TI
O

N
. T

H
IS

 W
IL

L 
PR

O
V

ID
E 

LE
SS

 S
TR

A
IN

 O
N

 T
H

E 
W

IN
C

H
 A

N
D

 E
N

TI
R

E 
PL

O
W

 S
Y

ST
EM

. 

W
H

Y 
U

SE
 A

 P
U

LL
EY

?

PO
SS

IB
L

E
 P

O
SI

T
IO

N
S

*S
TA

N
D

A
R

D
 F

A
IR

LE
A

D
 P

U
LL

E
Y 

R
E

Q
U

IR
E

D
 

F
O

R
 A

LL
 P

U
SH

 T
U

B
E

 A
PP

LI
C

AT
IO

N
S*

1

2

3

LI
FT

 H
O

O
K

 
PO

SI
TI

O
N

ED
 F

O
R 

EX
TR

A 
SU

PP
O

RT

12
" 

SO
FT

 L
O

O
P 

ST
R

A
P

H
O

O
K

W
IN

C
H

PL
O

W
 F

A
IR

LE
A

D
 

PU
LL

EY

PI
N

 P
O

IN
T

12
” 

SO
FT

 L
O

O
P 

ST
R

A
P 

W
R

A
PS

 A
R

O
U

N
D

 B
U

M
PE

R
 O

R
 

SO
L

ID
 A

N
C

H
O

R
 P

O
IN

T 
A

B
O

V
E

 T
H

E
 P

U
L

L
E

Y.

12
" 

SO
FT

 L
O

O
P 

ST
R

A
P

H
O

O
K

W
IN

C
H

PL
O

W
  F

A
IR

LE
A

D
 

PU
LL

EY

PI
N

 P
O

IN
T

- A
LU

M
IN

U
M

 R
O

LL
ER

- S
TA

N
D

A
R

D
 O

R
 W

ID
E

SY
N

TH
E

TI
C

 R
O

PE
 P

LO
W

 F
A

IR
LE

A
D

 P
U

LL
E

Y

ST
E

E
L 

C
A

B
LE

 P
LO

W
 F

A
IR

LE
A

D
 P

U
LL

E
Y

O
R


